

DISTRICT 2 E 43525 NON-FEDERAL

| PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: | DISTRICT 2 E 43525 NON-FEDERAL | Awarded To: | PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220 | | |
|-----------------------------------------------------------|-------------------------------------------------------------------------------------------------------------|-------------|--------------------------------------------------------------------|---------------|---------------------------------|
| DATE BIDS OPEN: SCOPE OF WORK: | RON-FEDERAL February 24, 2022, Resurfacing various Tier 2, 3, and 4 roadways in District 2, 3, and 5. | Amount: | \$3,088,157.02 | Certified by: | PETER.E.STAMNAS |
| COMPLETION DATE: LOCATION: | September 23, 2022 Grafton, Merrimack, District 2, District 5, Belknap, District 3 | Award Date: | | | Director of Project Development |

Summary of Bidders

| Contractor | Bid Amount | Rank |
|-------------------------------------------|----------------|------|
| PIKE INDUSTRIES, INC. | \$3,088,157.02 | А |
| 3 EASTGATE PARK ROAD, BELMONT NH 03220 | | |
| GMI ASPHALT LLC | \$3,144,723.04 | В |
| 288 LACONIA ROAD, BELMONT NH 03220 | | |
| CONTINENTAL PAVING INC | \$3,291,761.08 | С |
| 1 CONTINENTAL DRIVE, LONDONDERRY NH 03053 | | |



DISTRICT 2 E

43525

| | | | | F | PS&E | 3 EASTGAT | USTRIES, INC. 'E PARK ROAD IT, NH 03220 | 288 LAC | PHALT LLC ONIA ROAD IT, NH 03220 |
|----------|-------------|------|----------|------------|-------|------------|-----------------------------------------------|------------|----------------------------------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |

Items

| 202.7 | REMOVAL OF GUARDRAIL | LF | 472.50 | \$3.37 | \$1,592.33 | \$3.25 | \$1,535.63 | \$2.77 | \$1,308.83 |
|-----------|-----------------------------------------------------------------|-----|-----------|--------------------|---------------------|------------|----------------|------------|---------------------|
| 203.5561 | EAGRT PLATFORM PREFERRED | u | 4.00 | \$1.424.54 | \$5.698.16 | \$1.000.00 | \$4,000.00 | \$1.686.08 | \$6,744.32 |
| 206.1 | | CY | 8.30 | \$500.00 | \$4,150.00 | \$1,300.00 | \$10,790.00 | \$2,084.44 | \$17,300.85 |
| 304.32 | CRUSHED GRAVEL FOR SHOULDER LEVELING | TON | 7,240.60 | \$18.00 | \$130,330.80 | \$27.00 | \$195,496.20 | \$22.20 | \$160,741.32 |
| 403.11943 | HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH | TON | 423.80 | \$18.00 | \$130,330.80 | \$27.00 | \$195,496.20 | \$22.20 | \$160,741.32 |
| 403.11343 | STRENGTH | | 423.00 | φ02.0 9 | φ 3 3,044.02 | \$60.00 | \$33,904.00 | \$00.40 | φ 07 ,400.11 |
| 403.12 | HBP-HAND METHOD | TON | 56.90 | \$80.00 | \$4,552.00 | \$225.00 | \$12,802.50 | \$147.75 | \$8,406.98 |
| 403.129 | HBP-HAND METHOD, HIGH STRENGTH | TON | 5.10 | \$85.50 | \$436.05 | \$500.00 | \$2,550.00 | \$304.71 | \$1,554.02 |
| 403.16 | PAVEMENT JOINT ADHESIVE | LF | 3,760.00 | \$0.28 | \$1,052.80 | \$0.25 | \$940.00 | \$0.60 | \$2,256.00 |
| 410.22 | ASPHALT EMULSION FOR TACK COAT | GAL | 19,963.00 | \$3.50 | \$69,870.50 | \$3.50 | \$69,870.50 | \$4.35 | \$86,839.05 |
| 411.3 | PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM | TON | 27,848.50 | \$63.20 | \$1,760,025.20 | \$73.00 | \$2,032,940.50 | \$72.00 | \$2,005,092.00 |
| 417. | COLD PLANING BITUMINOUS SURFACES | SY | 15,655.00 | \$2.00 | \$31,310.00 | \$1.75 | \$27,396.25 | \$2.68 | \$41,955.40 |
| 417.1181 | COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP | LF | 5,674.00 | \$2.00 | \$11,348.00 | \$1.25 | \$7,092.50 | \$4.59 | \$26,043.66 |
| 604.0007 | POLYETHYLENE LINER | EA | 120.00 | \$138.00 | \$16,560.00 | \$125.00 | \$15,000.00 | \$146.65 | \$17,598.00 |
| 604.4 | RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET | LF | 44.00 | \$450.00 | \$19,800.00 | \$500.00 | \$22,000.00 | \$543.20 | \$23,900.80 |
| 604.52 | RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES | LF | 3.00 | \$450.00 | \$1,350.00 | \$500.00 | \$1,500.00 | \$543.20 | \$1,629.60 |
| 604.72 | GRATES & FRAMES, TYPE B | EA | 76.00 | \$800.00 | \$60,800.00 | \$600.00 | \$45,600.00 | \$834.40 | \$63,414.40 |
| 606.1254 | BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST) | U | 4.00 | \$3,568.03 | \$14,272.12 | \$4,800.00 | \$19,200.00 | \$5,641.06 | \$22,564.24 |
| 606.18001 | 31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST) | LF | 210.00 | \$28.02 | \$5,884.20 | \$40.00 | \$8,400.00 | \$30.80 | \$6,468.00 |
| 608.2401 | 4" CONCRETE SIDEWALK | SY | 76.00 | \$100.00 | \$7,600.00 | \$100.00 | \$7,600.00 | \$112.00 | \$8,512.00 |
| 608.54 | DETECTABLE WARNING DEVICES, CAST IRON | SY | 14.10 | \$455.00 | \$6,415.50 | \$475.00 | \$6,697.50 | \$532.00 | \$7,501.20 |
| 609.5 | RESET GRANITE CURB | LF | 65.60 | \$40.00 | \$2,624.00 | \$85.00 | \$5,576.00 | \$101.57 | \$6,662.99 |
| 616.615 | TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 15 FT | EA | 1.00 | \$800.00 | \$800.00 | \$1,100.00 | \$1,100.00 | \$788.48 | \$788.48 |
| 616.620 | TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 20 FT | EA | 1.00 | \$900.00 | \$900.00 | \$1,200.00 | \$1,200.00 | \$896.00 | \$896.00 |



DISTRICT 2 E

43525

| | | | | | PS&E | | USTRIES, INC. TE PARK ROAD NT, NH 03220 | 288 LA0 | SPHALT LLC CONIA ROAD NNT, NH 03220 | |
|----------|------------------------------------------------------------------------------|------|--------------|--------------|--------------|-------------|-----------------------------------------------|-------------|-------------------------------------------|--|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total | |
| 616.650 | TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT | EA | 2.00 | \$1,225.30 | \$2,450.60 | \$1,500.00 | \$3,000.00 | \$1,120.00 | \$2,240.00 | |
| 618.61 | UNIFORMED OFFICERS WITH VEHICLE | \$ | 5,200.00 | \$1.00 | \$5,200.00 | \$1.00 | \$5,200.00 | \$1.00 | \$5,200.00 | |
| 618.7 | FLAGGERS | HR | 1,500.00 | \$38.00 | \$57,000.00 | \$43.00 | \$64,500.00 | \$50.20 | \$75,300.00 | |
| 619.1 | MAINTENANCE OF TRAFFIC | U | 1.00 | \$30,000.00 | \$30,000.00 | \$50,000.00 | \$50,000.00 | \$40,000.00 | \$40,000.00 | |
| 619.25 | PORTABLE CHANGEABLE MESSAGE SIGN | U | 2.00 | \$2,376.00 | \$4,752.00 | \$1,500.00 | \$3,000.00 | \$2,316.04 | \$4,632.08 | |
| 628.2 | SAWED BITUMINOUS PAVEMENT | LF | 294.00 | \$5.00 | \$1,470.00 | \$15.00 | \$4,410.00 | \$17.37 | \$5,106.78 | |
| 632.0104 | RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE | LF | 1,466,705.60 | \$0.19 | \$278,674.06 | \$0.15 | \$220,005.84 | \$0.16 | \$234,672.90 | |
| 632.1104 | PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE | LF | 97.50 | \$1.74 | \$169.65 | \$1.00 | \$97.50 | \$2.24 | \$218.40 | |
| 632.1118 | PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE | LF | 24.00 | \$6.31 | \$151.44 | \$4.00 | \$96.00 | \$8.96 | \$215.04 | |
| 632.1124 | PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE 24" LINE | LF | 44.00 | \$12.50 | \$550.00 | \$6.00 | \$264.00 | \$13.44 | \$591.36 | |
| 632.3104 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE | LF | 975.00 | \$2.09 | \$2,037.75 | \$1.85 | \$1,803.75 | \$3.36 | \$3,276.00 | |
| 632.3112 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE | LF | 1,080.00 | \$5.51 | \$5,950.80 | \$2.00 | \$2,160.00 | \$4.48 | \$4,838.40 | |
| 632.3118 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE | LF | 24.00 | \$6.92 | \$166.08 | \$5.00 | \$120.00 | \$10.08 | \$241.92 | |
| 632.3124 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE | LF | 44.00 | \$13.79 | \$606.76 | \$6.00 | \$264.00 | \$13.44 | \$591.36 | |
| 632.32 | RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD | SF | 539.80 | \$10.28 | \$5,549.14 | \$9.00 | \$4,858.20 | \$11.20 | \$6,045.76 | |
| 632.911 | OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER | LF | 2,055.00 | \$0.99 | \$2,034.45 | \$1.50 | \$3,082.50 | \$1.16 | \$2,383.80 | |
| 632.912 | OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE | LF | 68.00 | \$6.34 | \$431.12 | \$2.00 | \$136.00 | \$2.32 | \$157.76 | |
| 632.92 | OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD | SF | 539.80 | \$4.23 | \$2,283.35 | \$3.00 | \$1,619.40 | \$4.63 | \$2,499.27 | |
| 645.531 | SILT FENCE | LF | 856.80 | \$3.07 | \$2,630.38 | \$2.00 | \$1,713.60 | \$3.47 | \$2,973.10 | |
| 645.611 | BONDED FIBER MATRIX (BFM) | LB | 227.70 | \$2.13 | \$485.00 | \$4.50 | \$1,024.65 | \$2.40 | \$546.48 | |
| 646.41 | TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS | SY | 16.10 | \$75.00 | \$1,207.50 | \$100.00 | \$1,610.00 | \$82.57 | \$1,329.38 | |
| 692. | MOBILIZATION | U | 1.00 | \$110,000.00 | \$110,000.00 | \$50,000.00 | \$50,000.00 | \$60,000.00 | \$60,000.00 | |
| 699. | MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL | \$ | 5,000.00 | \$1.00 | \$5,000.00 | \$1.00 | \$5,000.00 | \$1.00 | \$5,000.00 | |
| 1008.11 | ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK | \$ | 5,000.00 | \$1.00 | \$5,000.00 | \$1.00 | \$5,000.00 | \$1.00 | \$5,000.00 | |
| 1008.251 | ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS | \$ | 6,000.00 | \$1.00 | \$6,000.00 | \$1.00 | \$6,000.00 | \$1.00 | \$6,000.00 | |





43525

| | | | | PS&E | | PS&E PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220 | | GMI ASPHALT LLC 288 LACONIA ROAD BELMONT, NH 03220 | |
|----------|---------------------------|------|--------------|----------------|----------------|-------------------------------------------------------------------------|----------------|----------------------------------------------------------|----------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| 1010.15 | FUEL ADJUSTMENT | \$ | 20,000.00 | \$1.00 | \$20,000.00 | \$1.00 | \$20,000.00 | \$1.00 | \$20,000.00 |
| 1010.2 | ASPHALT CEMENT ADJUSTMENT | \$ | 100,000.00 | \$1.00 | \$100,000.00 | \$1.00 | \$100,000.00 | \$1.00 | \$100,000.00 |
| | | | Totals: | | \$2,842,215.76 | | \$3,088,157.02 | | \$3,144,723.04 |
| | | | Alt. Totals: | | | | | | |
| | | | Totals: | \$2,842,215.76 | | .76 \$3,088,157.02 | | 02 \$3,144,723 | |



DISTRICT 2 E

43525

| | | | | F | PS&E | 1 CONTIN | AL PAVING INC ENTAL DRIVE RRY, NH 03053 | | |
|----------|-------------|------|----------|------------|-------|------------|-----------------------------------------------|------------|-------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |

Items

| 202.7 | REMOVAL OF GUARDRAIL | LF | 472.50 | \$3.37 | \$1,592.33 | \$6.50 | \$3,071.25 | |
|-----------|-----------------------------------------------------------------|-----|-----------|------------|----------------|------------|----------------|--|
| 203.5561 | EAGRT PLATFORM PREFERRED | U | 4.00 | \$1,424.54 | \$5,698.16 | \$1,200.00 | \$4,800.00 | |
| 206.1 | COMMON STRUCTURE EXCAVATION | СҮ | 8.30 | \$500.00 | \$4,150.00 | \$70.00 | \$581.00 | |
| 304.32 | CRUSHED GRAVEL FOR SHOULDER LEVELING | TON | 7,240.60 | \$18.00 | \$130,330.80 | \$22.00 | \$159,293.20 | |
| 403.11943 | HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH | TON | 423.80 | \$82.69 | \$35,044.02 | \$92.00 | \$38,989.60 | |
| 403.12 | HBP-HAND METHOD | TON | 56.90 | \$80.00 | \$4,552.00 | \$130.00 | \$7,397.00 | |
| 403.129 | HBP-HAND METHOD, HIGH STRENGTH | TON | 5.10 | \$85.50 | \$436.05 | \$152.00 | \$775.20 | |
| 403.16 | PAVEMENT JOINT ADHESIVE | LF | 3,760.00 | \$0.28 | \$1,052.80 | \$0.23 | \$864.80 | |
| 410.22 | ASPHALT EMULSION FOR TACK COAT | GAL | 19,963.00 | \$3.50 | \$69,870.50 | \$4.00 | \$79,852.00 | |
| 411.3 | PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM | TON | 27,848.50 | \$63.20 | \$1,760,025.20 | \$78.00 | \$2,172,183.00 | |
| 417. | COLD PLANING BITUMINOUS SURFACES | SY | 15,655.00 | \$2.00 | \$31,310.00 | \$2.00 | \$31,310.00 | |
| 417.1181 | COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP | LF | 5,674.00 | \$2.00 | \$11,348.00 | \$2.50 | \$14,185.00 | |
| 604.0007 | POLYETHYLENE LINER | EA | 120.00 | \$138.00 | \$16,560.00 | \$135.00 | \$16,200.00 | |
| 604.4 | RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET | LF | 44.00 | \$450.00 | \$19,800.00 | \$480.00 | \$21,120.00 | |
| 604.52 | RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES | LF | 3.00 | \$450.00 | \$1,350.00 | \$480.00 | \$1,440.00 | |
| 604.72 | GRATES & FRAMES, TYPE B | EA | 76.00 | \$800.00 | \$60,800.00 | \$800.00 | \$60,800.00 | |
| 606.1254 | BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST) | U | 4.00 | \$3,568.03 | \$14,272.12 | \$5,445.00 | \$21,780.00 | |
| 606.18001 | 31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST) | LF | 210.00 | \$28.02 | \$5,884.20 | \$44.00 | \$9,240.00 | |
| 608.2401 | 4" CONCRETE SIDEWALK | SY | 76.00 | \$100.00 | \$7,600.00 | \$50.00 | \$3,800.00 | |
| 608.54 | DETECTABLE WARNING DEVICES, CAST IRON | SY | 14.10 | \$455.00 | \$6,415.50 | \$450.00 | \$6,345.00 | |
| 609.5 | RESET GRANITE CURB | LF | 65.60 | \$40.00 | \$2,624.00 | \$50.00 | \$3,280.00 | |
| 616.615 | TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 15 FT | EA | 1.00 | \$800.00 | \$800.00 | \$1,000.00 | \$1,000.00 | |
| 616.620 | TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 20 FT | EA | 1.00 | \$900.00 | \$900.00 | \$1,200.00 | \$1,200.00 | |



DISTRICT 2 E

43525

| | | | | | PS&E | 1 CONTIN | FAL PAVING INC IENTAL DRIVE ERRY, NH 03053 | | |
|----------|------------------------------------------------------------------------------|------|--------------|--------------|--------------|-------------|--------------------------------------------------|------------|-------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| 616.650 | TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT | EA | 2.00 | \$1,225.30 | \$2,450.60 | \$1,925.00 | \$3,850.00 | | |
| 618.61 | UNIFORMED OFFICERS WITH VEHICLE | \$ | 5,200.00 | \$1.00 | \$5,200.00 | \$1.00 | \$5,200.00 | | |
| 618.7 | FLAGGERS | HR | 1,500.00 | \$38.00 | \$57,000.00 | \$42.00 | \$63,000.00 | | |
| 619.1 | MAINTENANCE OF TRAFFIC | U | 1.00 | \$30,000.00 | \$30,000.00 | \$75,000.00 | \$75,000.00 | | |
| 619.25 | PORTABLE CHANGEABLE MESSAGE SIGN | U | 2.00 | \$2,376.00 | \$4,752.00 | \$500.00 | \$1,000.00 | | |
| 628.2 | SAWED BITUMINOUS PAVEMENT | LF | 294.00 | \$5.00 | \$1,470.00 | \$4.00 | \$1,176.00 | | |
| 632.0104 | RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE | LF | 1,466,705.60 | \$0.19 | \$278,674.06 | \$0.17 | \$249,339.95 | | |
| 632.1104 | PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE | LF | 97.50 | \$1.74 | \$169.65 | \$2.00 | \$195.00 | | |
| 632.1118 | PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE | LF | 24.00 | \$6.31 | \$151.44 | \$8.00 | \$192.00 | | |
| 632.1124 | PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE 24" LINE | LF | 44.00 | \$12.50 | \$550.00 | \$10.00 | \$440.00 | | |
| 632.3104 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE | LF | 975.00 | \$2.09 | \$2,037.75 | \$2.00 | \$1,950.00 | | |
| 632.3112 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE | LF | 1,080.00 | \$5.51 | \$5,950.80 | \$2.20 | \$2,376.00 | | |
| 632.3118 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE | LF | 24.00 | \$6.92 | \$166.08 | \$5.50 | \$132.00 | | |
| 632.3124 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE | LF | 44.00 | \$13.79 | \$606.76 | \$6.60 | \$290.40 | | |
| 632.32 | RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD | SF | 539.80 | \$10.28 | \$5,549.14 | \$9.90 | \$5,344.02 | | |
| 632.911 | OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER | LF | 2,055.00 | \$0.99 | \$2,034.45 | \$1.10 | \$2,260.50 | | |
| 632.912 | OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE | LF | 68.00 | \$6.34 | \$431.12 | \$2.20 | \$149.60 | | |
| 632.92 | OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD | SF | 539.80 | \$4.23 | \$2,283.35 | \$2.20 | \$1,187.56 | | |
| 645.531 | SILT FENCE | LF | 856.80 | \$3.07 | \$2,630.38 | \$5.00 | \$4,284.00 | | |
| 645.611 | BONDED FIBER MATRIX (BFM) | LB | 227.70 | \$2.13 | \$485.00 | \$10.00 | \$2,277.00 | | |
| 646.41 | TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS | SY | 16.10 | \$75.00 | \$1,207.50 | \$100.00 | \$1,610.00 | | |
| 692. | MOBILIZATION | U | 1.00 | \$110,000.00 | \$110,000.00 | \$75,000.00 | \$75,000.00 | | |
| 699. | MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL | \$ | 5,000.00 | \$1.00 | \$5,000.00 | \$1.00 | \$5,000.00 | | |
| 1008.11 | ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK | \$ | 5,000.00 | \$1.00 | \$5,000.00 | \$1.00 | \$5,000.00 | | |
| 1008.251 | ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS | \$ | 6,000.00 | \$1.00 | \$6,000.00 | \$1.00 | \$6,000.00 | | |



DISTRICT 2 E

43525

| | | | | PS&E | | PS&E CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE LONDONDERRY, NH 03053 | | | |
|----------|---------------------------|--------------|------------|------------|----------------|-----------------------------------------------------------------------------|----------------|------------|-------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| 1010.15 | FUEL ADJUSTMENT | \$ | 20,000.00 | \$1.00 | \$20,000.00 | \$1.00 | \$20,000.00 | | |
| 1010.2 | ASPHALT CEMENT ADJUSTMENT | \$ | 100,000.00 | \$1.00 | \$100,000.00 | \$1.00 | \$100,000.00 | | |
| | | | Totals: | | \$2,842,215.76 | | \$3,291,761.08 | | |
| | | Alt. Totals: | | | | | | | |
| | | | Totals: | | \$2,842,215.76 | | \$3,291,761.08 | | |



43525

| | | | | A-Bid | der | PS | ξЕ | |
|-----------|----------------------------------------------------------------|------|-----------|------------|----------------|------------|----------------|-------------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | A-PS&E Difference |
| Items | | | | | | | | |
| 202.7 | REMOVAL OF GUARDRAIL | LF | 472.50 | \$3.25 | \$1,535.63 | \$3.37 | \$1,592.33 | (\$56.70) |
| 203.5561 | EAGRT PLATFORM PREFERRED | U | 4.00 | \$1,000.00 | \$4,000.00 | \$1,424.54 | \$5,698.16 | (\$1,698.16) |
| 206.1 | COMMON STRUCTURE EXCAVATION | СҮ | 8.30 | \$1,300.00 | \$10,790.00 | \$500.00 | \$4,150.00 | \$6,640.00 |
| 304.32 | CRUSHED GRAVEL FOR SHOULDER LEVELING | TON | 7,240.60 | \$27.00 | \$195,496.20 | \$18.00 | \$130,330.80 | \$65,165.40 |
| 403.11943 | HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH | TON | 423.80 | \$80.00 | \$33,904.00 | \$82.69 | \$35,044.02 | (\$1,140.02) |
| 403.12 | HBP-HAND METHOD | TON | 56.90 | \$225.00 | \$12,802.50 | \$80.00 | \$4,552.00 | \$8,250.50 |
| 403.129 | HBP-HAND METHOD, HIGH STRENGTH | TON | 5.10 | \$500.00 | \$2,550.00 | \$85.50 | \$436.05 | \$2,113.95 |
| 403.16 | PAVEMENT JOINT ADHESIVE | LF | 3,760.00 | \$0.25 | \$940.00 | \$0.28 | \$1,052.80 | (\$112.80) |
| 410.22 | ASPHALT EMULSION FOR TACK COAT | GAL | 19,963.00 | \$3.50 | \$69,870.50 | \$3.50 | \$69,870.50 | \$0.00 |
| 411.3 | PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM | TON | 27,848.50 | \$73.00 | \$2,032,940.50 | \$63.20 | \$1,760,025.20 | \$272,915.30 |
| 417. | COLD PLANING BITUMINOUS SURFACES | SY | 15,655.00 | \$1.75 | \$27,396.25 | \$2.00 | \$31,310.00 | (\$3,913.75) |
| 417.1181 | COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP | LF | 5,674.00 | \$1.25 | \$7,092.50 | \$2.00 | \$11,348.00 | (\$4,255.50) |
| 604.0007 | POLYETHYLENE LINER | EA | 120.00 | \$125.00 | \$15,000.00 | \$138.00 | \$16,560.00 | (\$1,560.00) |
| 604.4 | RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET | LF | 44.00 | \$500.00 | \$22,000.00 | \$450.00 | \$19,800.00 | \$2,200.00 |



43525

| | | | 1 | A-Bide | der | PS8 | Е | |
|-----------|--------------------------------------------------------------------|------|--------------|-------------|--------------|-------------|--------------|-------------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | A-PS&E Difference |
| 604.52 | RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES | LF | 3.00 | \$500.00 | \$1,500.00 | \$450.00 | \$1,350.00 | \$150.00 |
| 604.72 | GRATES & FRAMES, TYPE B | EA | 76.00 | \$600.00 | \$45,600.00 | \$800.00 | \$60,800.00 | (\$15,200.00) |
| 606.1254 | BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST) | U | 4.00 | \$4,800.00 | \$19,200.00 | \$3,568.03 | \$14,272.12 | \$4,927.88 |
| 606.18001 | 31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST) | LF | 210.00 | \$40.00 | \$8,400.00 | \$28.02 | \$5,884.20 | \$2,515.80 |
| 608.2401 | 4" CONCRETE SIDEWALK | SY | 76.00 | \$100.00 | \$7,600.00 | \$100.00 | \$7,600.00 | \$0.00 |
| 608.54 | DETECTABLE WARNING DEVICES, CAST IRON | SY | 14.10 | \$475.00 | \$6,697.50 | \$455.00 | \$6,415.50 | \$282.00 |
| 609.5 | RESET GRANITE CURB | LF | 65.60 | \$85.00 | \$5,576.00 | \$40.00 | \$2,624.00 | \$2,952.00 |
| 616.615 | TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 15 FT | EA | 1.00 | \$1,100.00 | \$1,100.00 | \$800.00 | \$800.00 | \$300.00 |
| 616.620 | TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 20 FT | EA | 1.00 | \$1,200.00 | \$1,200.00 | \$900.00 | \$900.00 | \$300.00 |
| 616.650 | TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT | EA | 2.00 | \$1,500.00 | \$3,000.00 | \$1,225.30 | \$2,450.60 | \$549.40 |
| 618.61 | UNIFORMED OFFICERS WITH VEHICLE | \$ | 5,200.00 | \$1.00 | \$5,200.00 | \$1.00 | \$5,200.00 | \$0.00 |
| 618.7 | FLAGGERS | HR | 1,500.00 | \$43.00 | \$64,500.00 | \$38.00 | \$57,000.00 | \$7,500.00 |
| 619.1 | MAINTENANCE OF TRAFFIC | U | 1.00 | \$50,000.00 | \$50,000.00 | \$30,000.00 | \$30,000.00 | \$20,000.00 |
| 619.25 | PORTABLE CHANGEABLE MESSAGE SIGN | U | 2.00 | \$1,500.00 | \$3,000.00 | \$2,376.00 | \$4,752.00 | (\$1,752.00) |
| 628.2 | SAWED BITUMINOUS PAVEMENT | LF | 294.00 | \$15.00 | \$4,410.00 | \$5.00 | \$1,470.00 | \$2,940.00 |
| 632.0104 | RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE | LF | 1,466,705.60 | \$0.15 | \$220,005.84 | \$0.19 | \$278,674.06 | (\$58,668.22) |



43525

| Item No. | Description | | | A-Bidder | | PS&E | | |
|----------|-------------------------------------------------------------------|------|----------|------------|------------|------------|------------|-------------------|
| | | Unit | Quantity | Unit Price | Total | Unit Price | Total | A-PS&E Difference |
| 632.1104 | PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE | LF | 97.50 | \$1.00 | \$97.50 | \$1.74 | \$169.65 | (\$72.15) |
| 632.1118 | PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE | LF | 24.00 | \$4.00 | \$96.00 | \$6.31 | \$151.44 | (\$55.44) |
| 632.1124 | PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE 24" LINE | LF | 44.00 | \$6.00 | \$264.00 | \$12.50 | \$550.00 | (\$286.00) |
| 632.3104 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE | LF | 975.00 | \$1.85 | \$1,803.75 | \$2.09 | \$2,037.75 | (\$234.00) |
| 632.3112 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE | LF | 1,080.00 | \$2.00 | \$2,160.00 | \$5.51 | \$5,950.80 | (\$3,790.80) |
| 632.3118 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE | LF | 24.00 | \$5.00 | \$120.00 | \$6.92 | \$166.08 | (\$46.08) |
| 632.3124 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE | LF | 44.00 | \$6.00 | \$264.00 | \$13.79 | \$606.76 | (\$342.76) |
| 632.32 | RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD | SF | 539.80 | \$9.00 | \$4,858.20 | \$10.28 | \$5,549.14 | (\$690.94) |
| 632.911 | OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER | LF | 2,055.00 | \$1.50 | \$3,082.50 | \$0.99 | \$2,034.45 | \$1,048.05 |
| 632.912 | OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE | LF | 68.00 | \$2.00 | \$136.00 | \$6.34 | \$431.12 | (\$295.12) |
| 632.92 | OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD | SF | 539.80 | \$3.00 | \$1,619.40 | \$4.23 | \$2,283.35 | (\$663.95) |
| 645.531 | SILT FENCE | LF | 856.80 | \$2.00 | \$1,713.60 | \$3.07 | \$2,630.38 | (\$916.78) |
| 645.611 | BONDED FIBER MATRIX (BFM) | LB | 227.70 | \$4.50 | \$1,024.65 | \$2.13 | \$485.00 | \$539.65 |
| 646.41 | TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS | SY | 16.10 | \$100.00 | \$1,610.00 | \$75.00 | \$1,207.50 | \$402.50 |



43525

NON-FEDERAL

| | | | | A-Bidder | | PS&E | | | |
|----------|---------------------------------------------------------------------------------|------|------------|-------------|--------------|--------------|--------------|-------------------|--|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | A-PS&E Difference | |
| 692. | MOBILIZATION | U | 1.00 | \$50,000.00 | \$50,000.00 | \$110,000.00 | \$110,000.00 | (\$60,000.00) | |
| 699. | MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL | \$ | 5,000.00 | \$1.00 | \$5,000.00 | \$1.00 | \$5,000.00 | \$0.00 | |
| 1008.11 | ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK | \$ | 5,000.00 | \$1.00 | \$5,000.00 | \$1.00 | \$5,000.00 | \$0.00 | |
| 1008.251 | ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS | \$ | 6,000.00 | \$1.00 | \$6,000.00 | \$1.00 | \$6,000.00 | \$0.00 | |
| 1010.15 | FUEL ADJUSTMENT | \$ | 20,000.00 | \$1.00 | \$20,000.00 | \$1.00 | \$20,000.00 | \$0.00 | |
| 1010.2 | ASPHALT CEMENT ADJUSTMENT | \$ | 100,000.00 | \$1.00 | \$100,000.00 | \$1.00 | \$100,000.00 | \$0.00 | |

Total:

\$3,088,157.02

\$245,941.26

\$2,842,215.76